
1/10th SCALE ELECTRIC 4WD ROCK RACER

MOUNTAINOUSOFF ROAD ROCKY DESERT

READY-TO-RUN









ST-TRIM TH-TRIM ST-D/R

BIND



4. Turn on the electronic speed controller.

3. Turn on the transmitter.

2. Install the battery.

1. Put the battery in the car.

Connect firmly.

ON

OFF





8

AX80035
10mm Shock Caps Set     x2

AX80049
LED Lens Set - Clear     x2

AX80072
Offset Axle 4 link mount     x1

AX80070
Axial Diff Cover     x2

AX80071
Straight Axle Adapter Rear     x1

AX80084
UV Joint Driveshafts    x2

AX80078
Transmission Gear Cover   x1

AX80006
Servo Set     x1

AX80045A
LED Light Holder Set     x2

AX80045B
LED Light Holder Set     x2



9

AX80077
Rock Buggy Front End 1     x1

AX80037
Interior Details Parts Tree - Black     x2

AX80083
Rock Buggy Links Set    x2

AX80069
Offset Axle Housing    x2

AX80075
Wraith Tube Frame TOP    x1

AX80088
Rock Buggy Main Frame     x1 AX80087

Rock Buggy Main Frame     x1



10

AX80033
10mm Shock Set 1     x2

AX80061
Steering Knuckles Plastic Set     x1

AX80018
Hardware Parts Tree     x2

AX30665
Spurs 48DP 80T     x1

AX80010
Gear Set          x1

AX80062
XR10 C Hub Carrier Set    

x1

AX80051
Dig Transmission Case   

x1

AX80034
10mm Shock Set 2     x2

AX80036
72-103mm Shock Body     x2

AX30776
Straight Axle Shaft 6x160.2mm           

x1

AX30776
Straight Axle Shaft 6x104.2mm          

x1 AX30155
Shock Shaft 3x59.5     x4

x1AX30419
Solid Axle Dogbone 7x69mm

x1AX30419
Solid Axle Dogbone 7x125mm



11

AX80081
Radio Case        x1

AX80080
Corbeau LG1 Seat(Grey) x2

AX80074
Rock Buggy Main Frame   x1

AX80076
Rock Buggy Rear Brace Set   x1

AX80073
Offset Axle Steering Link   x1

AX80076
Rock Buggy Battery Brace x2

AX80089
Rock Buggy Front End 2  

x1

AX80079
Rock Buggy Skid Plate/Battery Tray  x1



12

AX30163
Pin 2x10mm          x6

AX30218
Spring 14x70mm - Super Soft (Red)     x4

AX30429
12mm Locking Hub     x4

AX30450
Flange Pipe 3x4.5x5.5    x4

AX30166
Pin 1.5x11mm        x4

AX30392
38T Bevel Gear       x2AX30385

Diff Gasket 16x25x0.5mm           x2

AX30500
Heavy Duty Locker       x2

AX30393
13T Bevel Gear            

x2

AX30368
Axle 6x39mm              x2

AX30463
Universal Joint Axle Pin holder          

x4

AX30198
Slipper Drive gear Shaft 5x53.5     x1 

AX30491
AX10 Scorpion Motor Plate     x1 

AX30394
20T Drive Gear          x1 

AX30437
Dig Lockout Shaft        x1 

AX30162
Pin 1.5x8mm           x2

AX30411
Outer Slipper Plate      x1

AX30410
Inner Slipper Plate       x1

AX30578
Pinion 48DP 20T           x1

AXA180
M3x3mm      x10

AXA0175
Screw Shaft M3x2.5x11mm     x4

AXA187
Set Screw M3x20mm     x4

AX30113
Rubber Bump Stop 3.6x7x4     x4

AX30112
Shock Diaphragm 13x4.5mm     x4

AX30408
Input Shaft 5x29mm       x2

AX30785
Drive Shaft Output          

x4

AX30784
Drive Shaft Coupler          

x4

AX30777
56x17mm Servo Plate     x1 

AX30435
Steel Outdrive Shaft      x1 

AX30413
Slipper spring               x1

AX30190
Shaft 5x18              x1 



13

AX30218
Spring 14x70mm - Super Soft (Red)     x4

AXA1071
Washer 4x8x0.5mm      x1

AXA1091
Washer 5x10x0.5mm    x1

AXA1070
Washer 3x6x0.5 mm     x6

AXA1090
Washer 4.8x14 (Green)             x4

AXA1393
E2.5 e-clip                  x2

AXA1356
Silicone Shock Bushing 7.5x8mm     x4

AXA013
M2x6mm                               x17

AXA083
M3x6mm                               x5

AXA089
M3x25mm                             x3 

AXA087
M3x16mm                             x8

AXA091
M3x30mm                                   

x2

AXA015
M2x10mm                             x16

AXA0439
M3x20mm                                  

x4

AXA438
M3x18mm                                  

x54

AXA435
M3x10mm                                     

x12

AXA434
M3x8mm                                        

x4

AXA0437
M3x15mm                                    

x10

AXA436
M3x12mm                                    

x8

AXA441
M3x30mm                                

x2 

AXA433
M3x6mm                                       

x8

AXA0422
M2.6x6mm                                   

x29

AXA440
M3x25mm                                  

x2

AXA1052
M3 Thin Nylon Locking Hex Nut    x20

AXA1053
M3 Nylon Locking Hex Nut    x4

AXA1040
M3 Thin Hex Nut            x2

AXA1041
M2.5 Nylon Lock Nut     x4

AXA1045
M4 Nylon Lock Nut     x5

AXA1243
Bearing 15x21x4mm     x1

AXA1230
Bearing 10x15x4mm     x6

AXA1221
Bearing 5x11x4mm      

x11

AXA1225
Bearing 8x16x5mm     x1 

AXA1218
Bearing 5x10x4mm     x4

AXA1202
O-Ring 3.5x2mm     x8

AXA1184
O-Ring 7.5x1.5mm     x4

AXA144
M3x8mm                                x4

AXA0113
M3x6mm                                     

x5

AXA117
M3x15mm                                   

x3

AXA0412
M2.6x6mm                             x3

AXA465
M3x10mm                                    x6

AXA464
M3x8mm                                      x4

AXA466
M3x12mm                                    x8

AXA0413
M2.6x8mm                                

x4

AXA0416
M2.6x18mm                                 

x2

AXA0414
M2.6x10mm                                 

x6

AXA463
M3x6mm                                      x2

AXA118
M3x18mm                               x8

AXA1069
Washer 2.7x6.7x0.5 mm     x8

AXA115
M3x10mm                                  

x4

AXA0109
M3x10mm Oversized Flat Hex Socket      x4



14

1

AX30163

AX30408

AXA1230

AXA1230

AX80002

AXA30392

AX30385

AXA015

AXA015

x2

x2

AX30392

AXA1393

AX30500

AX30395-38T/13T
AX30401-36T/14T
AX30402-43T/13T

AX30392
38T Bevel Gear       x2

AXA1230
Bearing 10x15x4mm     x4

AX30385
Diff Gasket 16x25x0.5mm           x2

AXA1393
E2.5 e-clip                  x2

AX30163
PIN 2.0x10mm           x2

AX30408
Input Shaft 5x29mm       x2

AX30392
13T Bevel Gear      

x2

AX30500
Heavy Duty Locker       x2

AXA015
M2x10mm                        x8



15

Note Direction

Note Direction

Note Direction

AX80069

AXA435

AX80070

AXA1221

AXA1221

2

AXA015

AX80070

FRONT

REAR

3

2

AXA1221
Bearing 5x11x4mm      

x4

AXA015
M2x10mm                               x8

AXA435
M3x10mm                

x8



16

Note Direction

x2

x1AX30419
Solid Axle Dogbone 7x69mm

x1AX30419
Solid Axle Dogbone 7x125mm

LEFT

Front

Rear

Front

Rear

RIGHT

3

AX30419

AXA1221

AXA1221

AX80061
AX80061

AXA115

AX30450

AX30450

AX30450

AX30450

AXA115

AXA115

AXA115

AXA1230

AX30368

AXA1221

AX30419

AXA433

AXA433

AXA433

AXA433

Front

2
1

AX80062 1

AX80062 1

AXA1221
Bearing 5x11x4mm      

x4

AXA1230
Bearing 10x15x4mm     x2

AX30368
Axle 6x39mm              x2

AXA433
M3x6mm                   

x4

AX30450
Flange Pipe 3x4.5x5.5    x4

AX30762
Aluminum C Hub Carrier

AX30760
Aluminum Steering Knuckle

AX30780
Universal Joint Axle

AXA115
M3x10mm                 

x4



17

4

AX80071

AXA433

AXA433

AXA433

AX30776

AX30776

AXA1221

AXA1221

AXA433

Rear

1

AX80071 2

AXA1221
Bearing 5x11x4mm        

x2

AX30776
Straight Axle Shaft 6x160.2mm          

x1

AX30776
Straight Axle Shaft 6x104.2mm           

x1

AXA433
M3x6mm                   

x4

AX30789
Rear Straight Axle Aluminum Adapter



18

Front
AXA465

AXA0439

AXA0439

AXA465

AXA1052

AXA180

AXA180

AXA1052

AXA180

AXA180

AXA1052

AXA1052
AXA087

AXA087

AXA087

AXA087

AXA464

AX80072

AX80070

AX80070

AX80070

AX80070

AX80072
AXA464

Rear
Note Direction

Note Direction

5

6

1

1

1

1

1

AXA1052
M3 Thin Nylon Locking Hex Nut    x4

AXA464
M3x8mm                 x1

AXA1052
M3 Thin Nylon Locking Hex Nut    x4

AXA464
M3x8mm                      x1

AXA087
M3x16mm                                   x4 

AXA087
M3x16mm                                  x4 

AXA0439
M3x20mm                                   

x1

AXA0439
M3x20mm                                   

x1

2

AXA180
M3x3mm               x2

AXA180
M3x3mm               x2

AXA465
M3x10mm              

x1

AXA465
M3x10mm              

x1



19

x4

Do Not 
Over 
Tighten

7

AX80036

AXA1202

AXA1184

AXA1069

AXA1041

AX30155

AX30113

x4

AX30112

8

x4

AX80033 3

AX80035 2

AX80035 5

AX80035 1

AX80034 1

AX80035 3

AX80035 4

AX80018 1

AXA1184
O-Ring 7.5x1.5mm     x4

AXA1202
O-Ring 3.5x2mm         x8

AX30113
Rubber Bump Stop 3.6x7x4     x4

AX30155
Shock Shaft 3x59.5     x4

AX30112
Shock Diaphragm 13x4.5mm     x4

AXA1041
M2.5 Nylon Lock Nut     x4

AX80018
Hardware Parts Tree    

x4

AXA1069
WASHER 2.7x6.7x0.5    

x8



20

liO/sgnirpSsnotsiP

Springs

Oil

AX30218
Spring 14x70mm 2.07 lbs-in - Super Soft

Soft
(2) 1.3mm holes

Standard Pistons

Variable Rate Pistons

Less

More

Medium
(3) 1.2mm holes

Firm
(3) 1.1mm holes

AX30219
Spring 14x70mm 2.47 lbs-in - Soft

AX30220
Spring 14x70mm 2.85 lbs-in - Medium

AX30221
Spring 14x70mm 2.85 lbs-in - Medium

AX30222
Spring 14x70mm 3.55 lbs-in- Super Firm

AX80033 2

AX80033 3

AX80033 4

AX80033 5

AX80033 5 AX80033 6

AX80033 5

AX80033 6

AX80033 6 AX80033 5

AX80033 6

D
am

p
en

in
g

Faster Slower
Dampening

Provides a different dampening rate depending on which direction you install.

Install this direction for faster 
rebound and slower compression

Install this direction for Slower 
rebound and faster compression

Provides the same dampening rate on both compression and extension

Depending on the application you may want a firmer spring than what is 
included.  Selecting a spring rate is based on each vehicles weight and handling 
and usually will require some trial and error.

For rock crawling applications it is recommended to use a stiffer spring on 
which ever corner is exhibiting torque twist.  

Oils are another element you can use to tune the handling of your vehicle.  You 
want an oil that allows the vehicle to handle the terrain well, but not too thin as 
to exhibit a springy bounce while driving.

We recommend starting with a good 30 wt. silicone oil.   If you are looking for a 
faster rebound/compression rate use a lower weight oil.  If you are looking for a 
slower rebound compression rate use a higher weight oil. 

AXA1069

AXA1041

AXA1041

AX30155

Installation

100wt.10wt.

liO/sgnirpSsnotsiP

Springs

Oil

AX30218
Spring 14x70mm 2.07 lbs-in - Super Soft

Soft
(2) 1.3mm holes

Standard Pistons

Variable Rate Pistons

Less

More

Medium
(3) 1.2mm holes

Firm
(3) 1.1mm holes

AX30219
Spring 14x70mm 2.47 lbs-in - Soft

AX30220
Spring 14x70mm 2.85 lbs-in - Medium

AX30221
Spring 14x70mm 2.85 lbs-in - Medium

AX30222
Spring 14x70mm 3.55 lbs-in- Super Firm

AX80033 2

AX80033 3

AX80033 4

AX80033 5

AX80033 5 AX80033 6

AX80033 5

AX80033 6

AX80033 6 AX80033 5

AX80033 6

D
am

p
en

in
g

Faster Slower
Dampening

Provides a different dampening rate depending on which direction you install.

Install this direction for faster 
rebound and slower compression

Install this direction for Slower 
rebound and faster compression

Provides the same dampening rate on both compression and extension

Depending on the application you may want a firmer spring than what is 
included.  Selecting a spring rate is based on each vehicles weight and handling 
and usually will require some trial and error.

For rock crawling applications it is recommended to use a stiffer spring on 
which ever corner is exhibiting torque twist.  

Oils are another element you can use to tune the handling of your vehicle.  You 
want an oil that allows the vehicle to handle the terrain well, but not too thin as 
to exhibit a springy bounce while driving.

We recommend starting with a good 30 wt. silicone oil.   If you are looking for a 
faster rebound/compression rate use a lower weight oil.  If you are looking for a 
slower rebound compression rate use a higher weight oil. 

AXA1069

AXA1041

AXA1041

AX30155

Installation

100wt.10wt.

AXA1356

AX30218

AX30218
Spring 14x70mm - Super Soft     x4

x4

x4 x2

x2

1

2 3

AX30463
AX30784A

AX30784B

AX30166

9

10

AX80084

AX80084AX80084

AXA144

AXA144

AX80084 1 3

3 5

AX80034 4

AX30166 AX30166

AXA1356
Silicone Shock Bushing 7.5x8mm     x4

AX30166
Pin 1.5x11mm          

x4

AX30784B
Drive Shaft Output          

x4

AX30784A
Drive Shaft Coupler          

x4

AX30463
Universal Joint Axle Pin holder          

x4

x4AXA144
M3x8mm 

AX30786
WB8 Driveshaft Retainer Ring

Note : Align marks when installing



21

12

11

Note Direction

Note Direction

AX80018 1

AX80018 1

AX80018 1 AX80018 1

AX80018 1

AX80018 1

AX80018 1

AX80018 1

AX80018 1

AX80018 1

AX80018 1

AX80018 1

AX80018 1

AX80018 1

AX80018 1

AX80018 1 AX80083 1

AX80083 1

AX80083 1

AX80083 1

AX80083 2

AX80083 2

AX80083 3

AX80083 3

AX80018
Hardware Parts Tree          

x16

AX30796
Wraith Tube Links Set



22

AXA118

AXA118

AXA118

AXA118

AXA091

AXA0175

AXA1052

Front

AXA1053

AXA1052

AXA1052

Front

13

14

AXA1053
M3 Nylon Locking Hex Nut (BLACK)              

x1

AXA1052
M3 Thin Nylon Locking Hex Nut (BLACK)     

x2

AXA1052
M3 Thin Nylon Locking Hex Nut (BLACK)     

x2

AXA091
M3x30mm                                   

x1

AXA0175
Screw Shaft M3x2.5x11mm     x1

AXA118
M3x18mm                               x2

AXA118
M3x18mm                               x2



23

AX80006

AX80006

AX80006

1

2

3

Front

Front

1

2

AXA434

AXA464

AXA464

AXA435

AX30777

AXA0109

AXA0109

AXA436

AX80073

AXA1053

AXA0113

AXA1052

AXA1052

AXA117

AXA117

AXA117

AXA435

AX30778

AX30778

AX80073
AX80006

AXA1070

15

16

AX80072 3

AX80072 3

1

4

AX80018 1

AX80018 1

AX80018 1

AXA464
M3x8mm                

x2

AXA1052
M3 Thin Nylon Locking Hex Nut (BLACK)     

x2

AXA1053
M3 Nylon Locking Hex Nut (BLACK)              

x1

AX80018
Hardware Parts Tree          

x4

AXA117
M3x15mm                                      

x3

AXA1070
Washer 3x6x0.5 mm     x1

AXA434
M3x8mm                

x2

x4AXA435
M3x10mm   

AXA0113
M3x6mm                    

x1

AXA436
M3x12mm                  

x1

AXA0109
M3x10mm Oversized Flat Hex Socket      x4



24

Rear

Rear

17

18

AXA0175

AXA118

AXA091

AXA1052

AXA1052

AXA1053
AXA118

AXA118

AXA118

AXA1052

AXA1052
M3 Thin Nylon Locking Hex Nut (BLACK)     

x2

AXA091
M3x30mm                                            

x1

AXA1052
M3 Thin Nylon Locking Hex Nut (BLACK)     

x2

AXA1053
M3 Nylon Locking Hex Nut (BLACK)              

x1

AXA0175
Screw Shaft M3x2.5x11mm     x1

AXA118
M3x18mm                               x2

AXA118
M3x18mm                               x2



25

20

19 AX30162

AXA1218

AXA1218

AXA1218

AX30394

AX30198

AXA1225

AX30435

AX30437

AX80010

AXA089

AXA0437

AX80051

AX80078

AX30491

AX80051

AX80010

AXA1243

AXA013

2

1

AX80051 8

AX80051 2

AX30190

AX30162
Pin 1.5x8mm                x1 

AX30198
Slipper Drive gear Shaft 5x53.5     x1 

AXA1243
Bearing 15x21x4mm   x1 

AXA1225
Bearing 8x16x5mm     x1 

AXA1218
Bearing 5x10x4mm     x4

AX30394
20T Drive Gear             x1 

AXA0437
M3x15mm                       x1 

AX30435
Steel Outdrive Shaft      x1 

AX30437
Dig Lockout Shaft        x1 

AXA089
M3x25mm                                      x3 

AXA013
M2x6mm         x3 

AX30793
Dig Upgrade Set (Wraith)

AX30190
Shaft 5x18              x1 



26

21

22

1

2
AXA083

AXA083

AX30410

AX30411

AX30412
AX30162

AXA1070

AX30665

AXA1070

AXA1091

AXA180

AX30578

AX30413

AXA1071

AXA1045

AXA0113

AX80078
AX80078

AXA0414 AXA0414

AXA0414

AXA436

1

AX80051 1

AX80051 7

3

AXA1221

AXA1221
Bearing 5x11x4mm      

x1

AX30411
Outer Slipper Plate      x1

AXA1071
Washer 4x8x0.5mm      x1

AXA1091
Washer 5x10x0.5mm    x1

AXA1070
Washer 3x6x0.5 mm     x5

AX30410
Inner Slipper Plate       x1

AX30413
Slipper spring               x1

AXA1045
M4 Nylon Lock Nut (Black)    x1

AX30162
Pin 1.5x8mm                x1 

AXA180
M3x3mm                         x1

AX30578
Pinion 48DP 20T           x1

AXA083
M3x6mm                         

x5

AXA0414
M2.6x10mm                      

x3

AXA0113
M3x6mm                           

x2

AXA436
M3x12mm                         

x2



27

23

AXA466

AXA465

AXA0175

Front

AXA0437

AXA0437
AXA187

AXA187

AXA0175
Screw Shaft M3x2.5x11mm     x1

AX80079 1

AXA187
M3x20mm Set Screw (Black Oxide)     x2

AXA466
M3x12mm                 x2

AXA0437
M3x15mm                            x2 

AXA465
M3x10mm                 x2



28

AXA0175

Rear

AXA0437

AXA187

AXA0437

AXA187

24

AXA187
M3x20mm Set Screw (Black Oxide)     x2

AXA0437
M3x15mm                              x2 

AXA0175
Screw Shaft M3x2.5x11mm     x1



29

AX80045A 1

AX80045B 5

AX80045B 5

AX80045B 2

AX80045A 1

AX80045B 2

AXA013

AXA013

AXA013

AX24253

AX80082

AX30041

AX30041

AX80049

AX8004925

AXA013

AXA013

AXA441

AXA0413

AXA0413

AXA0413

AXA0413

AX80077-001

AX80082 1

2

4

4

AXA0413
M2.6x8mm         

x4

AXA013
M2x6mm           x6 

AXA441
M3x30mm                                    

x2 



30

Left26

AXA0437
AXA0437

AXA438

AXA438

AXA438
AXA438

AXA438

AX80074

AX80081AX80082

AX80088

AX80077

2

3

3 5

AXA0437
M3x15mm                              x2 

AXA438
M3x18mm                              

x5



31

Right

AXA0437

AXA0437

AX80077

AX80074

AX80087

AXA438

AXA438

AXA438

AXA438

AXA438

AXA438

27

28

2

1

AXA0437
M3x15mm                                  x2 

AXA438
M3x18mm                                   

x3

AXA438
M3x18mm                                  

x3



32

AXA0416

AXA0416

AXA0414

AXA0414

AX30566

AX24257

AXA180

AXA30031

AXA0412

AXA0412
AXA0414

AXA0412

AXA30031

29

Rear

Front

4

1AX80081

AX24259

2AX80081

AX80081 3

AX80081

AXA180
M3x3mm            

x1

AXA0414
M2.6x10mm       

x3

AXA0416
M2.6x18mm                            

x2

AXA0412
M2.6x6mm                   x3

AX24257
Simple LED Controller w/LED lights (4 white and 2 Red)



33

CA

AX80037

AX80037

AX80037
AX80037

AX80037

AX80037

AX80037

AXA013 AXA0113

AXA1040

AXA463

AX4028

AX80037

AX80037

AXA465

AXA463

AXA465

AXA013

AXA466

AXA466

AX80080

AX80080

30

AXA013

x2

2

1

9

2

15

14

1012

12

14

11

AX80080 3

AX80080 3

AXA1040
M3 THIN HEX NUT (BLACK)        

x2

AXA013
M2x6mm         x4 

AXA0113
M3x6mm         

x2

AXA466
M3x12mm                 x2

AXA465
M3x10mm                 x2

AXA463
M3x6mm                   x2



34

AXA013

31

AXA0422

AXA0422

AXA0422
M2.6x6mm             

x2

AXA013
M2x6mm               x2 



35

33

32

AXA438

AXA438

AXA438

AXA438
AXA438

AXA438

AXA438
AXA438

AXA438

AXA436

AX80077 4

AX80076 2

AX80089 1

AX80075 1

AX80076 1

AXA438
M3x18mm                         

x6

AXA438
M3x18mm                              

x3

AXA436
M3x12mm                     

x1



36

AXA438

AXA438

AXA438

AXA438

AXA438

AXA438

AXA438

AXA438

AXA438

AXA436

AXA438

AXA438

AXA438

AXA0422

AXA0422

AXA438

AXA438

34

AX80082 2

AXA438
M3x18mm                                  

x14

AXA436
M3x12mm                     

x1

AXA0422
M2.6x6mm                    

x2



37

x2

x2

AXA013

AX24258

AX24258

AXA013

AX80045

AX80045

AX80045

AXA438

AXA436

AXA436

AXA438 AXA438

AXA438

AXA433

AXA433

AXA434
AXA434

AX80049

AX80075

AX80049

35

36

11
2

AX80077 1
AX80045A 7

AX80045B 8

AX80045A 5

AXA438
M3x18mm                             

x4

AXA436
M3x12mm                     

x2

AXA013
M2x6mm              x4 

AXA434
M3x8mm                 

x2

AXA433
M3x6mm                 

x2

4

6

2
5

1



38

37

AXA438

AXA438

AXA438
M3x18mm                              

x8



39

Rear

Front38

39

AXA0439

AXA0439

AXA440

AXA440

AX80034 2

AX80034 2

AXA0439
M3x20mm                             

x2

AXA440
M3x25mm                                      

x2



40

AXA180

AX30163

AXA1090

AXA1045

40

41

CA

x4

x4

AX12015

AX12015

AX8137

AXA180
M3x3mm      x4

AX30163
PIN 2.0x10mm                             x4

AXA1045
M4 Nylon Lock Nut (Black)       x4

AXA1090
Washer 4.8x14 (Green)             x4



41

AXA0422

AXA0422

AXA0422

AXA0422 AXA0422

AXA0422

AXA0422

AXA0422

AXA0422

AXA0422

AXA0422

AXA0422

AXA0422AXA0422

AXA0422
AXA0422

AXA0422

Left & Right

42

43

AX4027

AX4027

AX4027

AXA0422
M2.6x6mm                 

x9

AXA0422
M2.6x6mm                   

x16



42

AXA013

AXA013

AXA434

AXA434

AXA433

AXA013

AXA013

AXA433

AX80045B

AX80045B
AX30032

AXA180

AX30031

AXA0414

AXA0414

AXA0414

AXA0412
AXA0412

AXA0412

AXA0416

AXA0416

AX80081

AX80081

AX80081

AX80037

AX80037

AX80037
AX80037

AX80037
AX80037

AX80037

AX80037

AX80037

AX80078

AX80078

AXA1045

AXA1071

AXA0175

AXA144

AXA0414

AXA0414

AXA0414
AXA144

AXA0175

AX30463

AX30784

AX30166

AX80084

AX80084

AX80084

AX80084

AX30166

AX30784

AX30463

AX30785

AX30785

AXA1070

AXA1070

AXA083

AXA083

AXA083

AXA1070

AX30413

AX30665
AX30411

AX30412

AX30410

AX30491

AX80078

AXA1091

AXA013

AXA013

AXA013

AXA013

AX80045A

AX80045A

AX80045A

AX80045B

AX80045B

AX80045A

AX80045A

AX80045A

AX80045A

AX80045A

AX80049

AX80049

AX80049

AX80049

AX80080

AX80080

AX80080

AX80080

AX80080

AX80080

AX80081

AXA466

AXA466

AXA466

AXA466

AX80080

AX80080

AXA463

AXA463

AXA465

AXA465



43

AX30578

AXA180 AXA083
AXA1070

AX80082

AXA0413

AX30041

AX30041

AXA0413

AXA0413

AXA0413

AXA1070

AX80051

AXA0437

AX80051

AXA1218

AX30394 AX30198

AX30162
AX30162

AXA1218

AX80051

AX80051

AX80051

AXA0113

AXA013

AXA436

AXA089

AXA089

AXA089

AXA436

AXA0113

AXA1218
AX30190

AX80010

AXA1218

AXA1221AXA1243

AXA1225

AX80079

AX30435

AX80010

AX80051

AX30785

AX30785

AX30166

AX30166

AX30463

AX30463

AX30784

AX30784

AX80084
AX80084

AX80045

AX80045

AX80045

AX80045

AX80035

AXA1356

AX30112

AXA1041

AXA1069

AXA1069

AX30155

AX80036

AX80035

AX80035

AXA1202

AXA1202

AX80035

AX80035

AX30218

AX30113

AX80034

AX80034
AX80018

AXA1184

AX80033

AX80045

AX80049

AX80049

AX80045

AX80084 AX80084

AX30437

AXA013

AXA013

AXA013

AXA013

AXA013
AXA013

AXA013

AXA438

AXA438

AXA465

AXA465

AXA466

AXA466

AXA438

AXA438

AXA438

AXA144
AXA144

AXA0175

AXA0175

AXA438

AXA438

AXA438

AXA013

AXA013

AXA083



44

AXA1045

AXA1090 AXA180

AX30429

AX30163

AXA435

AXA435

AXA1221 AX30778

AX80018

AX80018

AXA1052

AXA1052

AXA1052

AXA091

AXA438

AXA438

AXA0439

AXA0439

AXA438

AXA438

AX80018

AX80018

AX80018

AX80018

AX80083

AX80083

AX80083

AX80083

AXA438

AXA438

AXA187

AXA187

AX80018

AX80018

AX80034

AX80034

AXA1090

AXA1230

AX30368

AX30368

AX30450

AX30450

AX30778

AXA1230

AXA1221

AX80061
AX30450

AX80062

AX80062

AX30450

AX30419

AXA115

AXA115

AXA115

AXA464

AXA465
AXA433

AXA433

AXA433

AXA433

AXA115

AXA1230

AX30392

AX30385

AXA435

AXA015

AXA015
AXA015

AXA015

AXA435

AXA435

AXA435

AX30500

AXA1393

AX30393 AX30163

AX30408

AXA1221

AXA087

AXA087

AXA180

AXA180

AX80069

AX80070

AX80072

AX80070

AXA1221

AXA1221

AXA1221

AXA1052

AXA1052

AXA1052

AXA1053AXA0439

AXA180

AXA180

AX30419

AX80070

AX80070
AX80070 AX80002

AXA1230

AXA1052

AX80018

AX80018

AX80073

AX80073

AX80018

AX80018

AXA117

AXA117

AXA436

AXA0113

AXA434AXA434

AXA434

AXA1070

AX80006

AX80072

AX80072

AXA1053

AX30777

AXA464

AXA464

AXA0109

AXA0109

AXA117

AXA1052

AXA015

AXA015

AXA015

AXA015

AXA435

AXA435

AX30163

AX30429
AXA1090

AXA1045



45

AXA1045
AXA1090

AXA1053

AX30776

AX30776

AX30163 AX30429

AXA1090

AXA1045

AX80070

AX80070

AX80069

AX80072

AXA180
AX30429

AX30163

AX80018

AX80018

AX80018

AXA091

AXA464

AXA435

AXA435

AXA015

AXA015

AXA435

AXA435

AX80070

AXA0439

AXA087

AXA015

AXA015
AXA015

AXA015

AXA087

AXA465

AXA0437

AXA0437

AX80018

AX80018

AX80018

AX80018

AX80034

AX80083

AX80083

AX80083

AX80084

AX80018

AXA440

AXA433

AXA433
AXA180

AXA180

AXA180

AXA180

AXA438

AXA438

AXA187

AXA1052
AXA1052

AXA1052

AXA1221
AXA1221

AXA1230

AXA1230

AX30392

AX30385

AX30500

AX80002
AX80070

AX80070

AX30408
AX30163

AX30393

AXA1393

AXA1221

AXA1053

AXA1052

AXA1053

AX80071

AXA187

AX80083

AX80071

AXA1221

AXA433

AXA438

AXA433

AXA438

AXA440

AX12015

AX12015

AX8137



AX30546
AX30545

AXA149

AXA149

AXA1053

AXA1053
AX30546

AX30545



Shock Tuning / Stossdämpferabstimmung

liO/sgnirpSsnotsiP

Springs

Oil

AX30218
Spring 14x70mm 2.07 lbs-in - Super Soft

Soft
(2) 1.3mm holes

Standard Pistons

Variable Rate Pistons

Less

More

Medium
(3) 1.2mm holes

Firm
(3) 1.1mm holes

AX30219
Spring 14x70mm 2.47 lbs-in - Soft

AX30220
Spring 14x70mm 2.85 lbs-in - Medium

AX30221
Spring 14x70mm 2.85 lbs-in - Medium

AX30222
Spring 14x70mm 3.55 lbs-in- Super Firm

AX80033 2

AX80033 3

AX80033 4

AX80033 5

AX80033 5 AX80033 6

AX80033 5

AX80033 6

AX80033 6 AX80033 5

AX80033 6

D
am

p
en

in
g

Faster Slower
Dampening

Provides a different dampening rate depending on which direction you install.

Install this direction for faster 
rebound and slower compression

Install this direction for Slower 
rebound and faster compression

Provides the same dampening rate on both compression and extension

Depending on the application you may want a firmer spring than what is 
included.  Selecting a spring rate is based on each vehicles weight and handling 
and usually will require some trial and error.

For rock crawling applications it is recommended to use a stiffer spring on 
which ever corner is exhibiting torque twist.  

Oils are another element you can use to tune the handling of your vehicle.  You 
want an oil that allows the vehicle to handle the terrain well, but not too thin as 
to exhibit a springy bounce while driving.

We recommend starting with a good 30 wt. silicone oil.   If you are looking for a 
faster rebound/compression rate use a lower weight oil.  If you are looking for a 
slower rebound compression rate use a higher weight oil. 

AXA1069

AXA1041

AXA1041

AX30155

Installation

100wt.10wt.

liO/sgnirpSsnotsiP

Springs

Oil

AX30218
Spring 14x70mm 2.07 lbs-in - Super Soft

Soft
(2) 1.3mm holes

Standard Pistons

Variable Rate Pistons

Less

More

Medium
(3) 1.2mm holes

Firm
(3) 1.1mm holes

AX30219
Spring 14x70mm 2.47 lbs-in - Soft

AX30220
Spring 14x70mm 2.85 lbs-in - Medium

AX30221
Spring 14x70mm 2.85 lbs-in - Medium

AX30222
Spring 14x70mm 3.55 lbs-in- Super Firm

AX80033 2

AX80033 3

AX80033 4

AX80033 5

AX80033 5 AX80033 6

AX80033 5

AX80033 6

AX80033 6 AX80033 5

AX80033 6

D
am

p
en

in
g

Faster Slower
Dampening

Provides a different dampening rate depending on which direction you install.

Install this direction for faster 
rebound and slower compression

Install this direction for Slower 
rebound and faster compression

Provides the same dampening rate on both compression and extension

Depending on the application you may want a firmer spring than what is 
included.  Selecting a spring rate is based on each vehicles weight and handling 
and usually will require some trial and error.

For rock crawling applications it is recommended to use a stiffer spring on 
which ever corner is exhibiting torque twist.  

Oils are another element you can use to tune the handling of your vehicle.  You 
want an oil that allows the vehicle to handle the terrain well, but not too thin as 
to exhibit a springy bounce while driving.

We recommend starting with a good 30 wt. silicone oil.   If you are looking for a 
faster rebound/compression rate use a lower weight oil.  If you are looking for a 
slower rebound compression rate use a higher weight oil. 

AXA1069

AXA1041

AXA1041

AX30155

Installation

100wt.10wt.



AXA0109 M3x10mm Oversized Flat Hex Socket





GO OVERLAND
DO EXPEDITION

Blending the perfect amount of versatility, performance, and durability, the SCX10 line of vehicles truly 
represent a “Do Expedition, Go Adventure” spirit.  The realistic C-Channel ladder frame chassis,  4WD, coil 
over-oil �lled shock absorbers, true beadlock wheels and Pro-Line Flat Iron tires on the SCX10 line make it 
one of the most diverse R/C vehicles on the planet. Adventure the wild with an Axial SCX10 and bring your 
adventure dreams to reality.
one of the most diverse R/C vehicles on the planet. Adventure the wild with an Axial SCX10 and bring your 
adventure dreams to reality.

DISCLAIMER:
These trucks are professionally waterproof prepared for overland adventures without the use of snorkels. See our waterproo�ng tech brief at 
http://axialracing.com/wordpress/category/tech/

axial_ax90012-16_overland_caraction.pdf   1   1/12/11   8:06 AM



GO OVERLAND
DO EXPEDITION

Blending the perfect amount of versatility, performance, and durability, the SCX10 line of vehicles truly 
represent a “Do Expedition, Go Adventure” spirit.  The realistic C-Channel ladder frame chassis,  4WD, coil 
over-oil �lled shock absorbers, true beadlock wheels and Pro-Line Flat Iron tires on the SCX10 line make it 
one of the most diverse R/C vehicles on the planet. Adventure the wild with an Axial SCX10 and bring your 
adventure dreams to reality.
one of the most diverse R/C vehicles on the planet. Adventure the wild with an Axial SCX10 and bring your 
adventure dreams to reality.

DISCLAIMER:
These trucks are professionally waterproof prepared for overland adventures without the use of snorkels. See our waterproo�ng tech brief at 
http://axialracing.com/wordpress/category/tech/

axial_ax90012-16_overland_caraction.pdf   1   1/12/11   8:06 AM



8 Goodyear
Suite 125
Irvine, CA 92618

AX90018-I001

D O  A N Y T H I N G ,  G O  A N Y W H E R E . ™




